ds e6/f5 ed
ed /
d6—d5/
% g4 e5
o4 eb—1s5 d3 c4 c5
\f(j f5——d6——d5
gd—f2
cb d4 e4 d5 €d f2 e3 e2
Y gl b7 ——c6——d6——d7

f4——d5 ds ed ed c7
3] 2 ed ed 3 d3

N3 ——es——db c7<c6 b7 ——d6——d7
eb e3 d6——d7

e3
e3
ed
ds e6< 5 ed

d3
e4
4(‘6
d6 \
% 95
o4 eb—15 d3 c4 c5
\fG 5 d6——d5
gd—f2
c6 d4 ed db eh 2 e3

e2
/

el b6 b7 c6 d6 d7
N3 ei—— A5 —— T c6——bT——d6——dT

e5 e3 d6——d7

f4——-d5 ed el c7
5 <f5 £2 e3 ed £3 d3

g3—12

3 d3 e3 e6
2 ed ds eb
3

f2 e3 d3
g4 f2 el e2

Fig. 17. Solver proof trees for the 7x7 openings d1 and el.
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b7—d6
d7—b6—1f1—b2
eb—b4d d2—el—e2—gl—f2—f3—

b2—b3—b4—ab
bl—b2—b4—ab

—g2—a4

ibS—aS—bQ—aZ—bél—aS
c3—e3 b4—ab b4—ab
/b? d / b2—b3—bd—ab
Nt W o
cH—I13
eb—b4 b4—ab bd—ab
b2—b3—bd—ab
bl—b2—bd—ab
e2_g1_f2_f3_g2_34§b3—a3ib2—a2—b4—a5
(31 bd—a5 bd—a5
d3—c3/c3—f4
/36—b5—d3—c3
b3—bd f1—d2
c3—1f4
b5—36£d3—c3
B—al f1l—d2 “fl—d2
c4—b3 c3—f4
e5—b—c3—b2 \},5— aﬁib3 b4 d3—c3
e e44(‘3—f4 dl—c3 }g_pq PiTad fl—d2
§d1—c3 f1—d2
f1—d2 e3—b6

d4= ch—db—d3—c3—d2—c2—c4—12—e5—hbb6

\e3 d3—d5—b6—c5—bb—c4—b4d ¢7—bb6

bl—c4 fH—eb—e3—c2
f6—eb6

- e

e3—«c2

c6—14_
d5—(‘5—93—d3\5 N
ed—c2

dl—b2 fl—c2

b6— d6/d2—e2

- b5£(‘4—(‘2\2§_;2
li\c1—d2 "d3—b2

f1—d2

c2—d2—d5—c5—b7—d6

lllc3 —f2—d5—d6

llc7—b6—d3—c2

l1—e2

17—b6—d3—c2

el —f2—d5—d6  ¢2—hb3

eb—b6—d3—c2 /c4—d3—d5—«cH

2—c3—d2—b3

fl—f3£d5—c4 cl—b3
ed—d5 db—ch

Fig. 18. A Solver proof tree for the 7x7 opening d4. Notice that this proof tree has only 277 nodes,

whereas the original d4 recursion tree has 1225 nodes.
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—ed—c2

e6—16—e3—c2



